ORR Notes - Russia

KQ: How did Lenin justify the April Theses?
Lenin justified the April Theses by claiming that the bourgeoisie (middle class) in Russia were too weak to carry through the democratic revolution that should be the next logical stage in Marxism. Remember in Marxism:


FEUDALISM






BOURGEOIS REVOLUTION



















CAPITALISM











SOCIALIST REVOLUTION

Lenin claimed that the proletariat had already assumed power in the soviets – that they were driving the revolution through the Petrograd Soviet. He said it would be a backward step to move to a middle class dominated parliamentary democracy. However a socialist revolution could only be accomplished if the mass of the population were members of the proletariat, and Russia in 1917 was four fifths agrarian peasantry. Lenin got around this awkward fact by stating that in Russia the poor peasants could be treated as proletarians because they had a consciousness of their class position and were active players in the revolution.
Lenin also did not consider Russia in isolation. You must remember he saw Russia as the weakest link in the international chain, and fully expected other countries to join in the revolution like Germany as it spread from Russia. These countries would then aid Russia to develop full-blown socialism. 
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In your own words, justify Lenin’s April Theses. 
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